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18th August RRB NTPC Reasoning Sunday Mega Quiz (Sol.) 

 

S1.  Ans.(c) 
Sol. Book has pages.  

Similarly, Car has tyres.  

 

S2.  Ans.(b) 
Sol. 553 – 2 = 551  

447 – 2 = 445 

 

S3.  Ans.(c) 
Sol. 15 + 7 = 22 

19 + 7 = 26  

 

S4.  Ans.(b) 

Sol. +7 series  
CDF → JKM 

 

S5.  Ans.(b) 

Sol. Influenza is called by Virus 
Ringworm is caused by Fungi  

 

S6.  Ans.(c) 

Sol. Crocodile is not water. 
 

S7.  Ans.(b) 

Sol. +3 series except SU (+2 series)  

 

S8.  Ans.(c) 
Sol. Pink and Red both are colour means same pair.  

 

S9.  Ans.(c) 

Sol. Doubtful is having different meaning from the rest three words.  
 

S10.  Ans.(d) 

Sol.  +3 series except EHKM.  

S11. Ans.(c) 
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S12. Ans.(c) 

Sol. ⇒ ML, Alphabets are related to its opposite alphabets 

ABCDEFGHIJKLM 

             ↓↑            ↑↑  

 ZYXWVUTSRQPON 

 

S13. Ans.(c) 

Sol. 9 × 7 = 63 

6 × 7 = 42 

 

S14. Ans.(d) 

Sol. 62 = 36 

72 = 49 

82 = 64 

92 = 81 

 

S15. Ans.(d) 

Sol.Chennai is a city all other are union territories. 

 

S16. Ans.(b) 

Sol. 27th Dec. 2009 – Thursday 

1st March 2010 → ? 

No. of Days between them = 4 + 31 + 28 + 1 

= 64 

Dividing it by 7 we get remainder = 1 

Thursday + 1 Day = Friday 

 

S17. Ans.(c) 

Sol. 

 
 

S18. Ans.(a) 

Sol. prrt/prrt/prrt 

 

 

S19. Ans.(b) 

Sol. 
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S20. Ans.(d) 

Sol. 

 
 

S21. Ans.(b); 

Sol. (1 + 11) × (11 − 1) = 120 

(2 + 7) × (7 − 2) = 45 

(3 + 5) × (5 − 3) = 16 

 

S22. Ans.(b); 

Sol.  

 
S23.  Ans.(c); 

Sol. Both conclusion I and II follow  

 

S24.  Ans.(c); 

Sol. 14 

 

S25. Ans.  (b); 

 

S26.  Ans.(b); 

Sol. The required common person between triangle and circle 

so, only 2 person having same similarity. 

 

S27. Ans.  (a); 

 

S28.  Ans.(d); 

 

S29. Ans.(a); 

 

S30. Ans.(c);  
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